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I8 gmermmaonéo  beboo

10 3mobmdgeo sbosgmobo
3601demgds: sdabeol abslis@dgdgagmads

330bols  asdmbszgmgzo  bemboo (IgBgmememaon®o  dsemmbo)  as3mogabgds  s@Imliggg@ml
Bgos 969030 dmbszdms  Iglbeatimggdmse  8dobeols  dmegmodgdolsmgol.  dsgrmbo
d93Lgdgmos  3gmogdoon s smfgzl Fobslfm®mdol Ggddoml Gmigs Lbgemds dsgnembdo
dgmomdols s a969dmb  Lodyz@ogzgl  Fm@ol  boyenl g mmegds.  dsgrmbo  Rgrgds
dor3999em  Lodsmmgby. emol 3s6dsgmmbsdo by smdmdls dogrmbls, 3gemordo ggsGImmzEgds
s dommbdo Lodzzdmogg gigds. dols gsdm  Bebeo  asEsnbs(33egdls 3dmlggOml  MR@m
Bges g969830. Losdmb 3gemondo 33msg (3030908 ©s Bmboo s dmliggmml J3gos ggbgol
QOO Mbegds.  dogrmbl  gsdmoggbgdgb dob  oMagzmog  Bgd3g@sd ol (bg3ol, Bgbosbmdals,
Jodo@o 36396300l s Lbgs 356M8dgBgd0ls gelebmdse. dsgrmbo @Rgds 486 33
bodsmengby 63309600y Lssmol, ol o6 (mgdol  asbdsgemmdsdo, Gsms  Fg360dmls
dcb5(399900 39693 Fglsbgd. dsemmbo  gEsdafel O mbogds, o dgmondo  gsgmbsgls
dsmmbosb.

3gbsgsgmo
10.1 godmmzgemgdo 3meobemdols bsBsemgdoom
3Gmdgds: g gmdemmmyon@o bmboo
10.2 3eemobmdols gqliggdo

Qols ‘5360
3gbsgegmo

83 0330 s™dmgoeagbm MATLAB 396J(3090L  3er06mdols sbsgmobolsmgols. Sodggen oy do
a9bz30bomsgmn  abgol, Gmgme  Fg3fdbser  Seamobmdo s OMYME  3sFsGdmmm  gsdmmgmgdo
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3eremobmdols baBgsemadom. dgdregy gs630boemsgm  s3m(39bsls, Lawsz 6sR3zgbgdos Gmgm® dq3Jdbsm
393 9OME™aon@o  dsemmbol LohJs@ols s Lodsmmol dmegmo 3meobmdols bsdgsemgdom. sdobs
d9009a  asbzobomsgzm  gbd3090L, GmImadoz baBmeemadsl  a38dmgals  godmzgmo  3memobmdols
39b3g00 ©s 306M0dom iggliggdols Lsdnsmmadoo s333mm 3emobmdols gsdmbsbmmmagds.

10.1 333mmzgmado 3mmobmdols Lsdwsmadoo.

3eragmobmdo 360l ghmo (330l 39308, AMImols Bmgswo gm@Inms skgmoas:

f(x)=ax" +a,x"*+a,x" 7 +...+a, x> +a x+a,,
bosy  (33meos X bomo  3mg03096Bgd0 a1, a2, ©s 8.9. 3eeobmdols bscobbo  (33mswols
bstobbol  gzgmoeby domsmo  dsB3qbgommols  Beamos.  s3G0g3se, gndneo — dgbsdy  Bacolbol
3ere00bmdols Bemgswo gm®dness:

g(x) =a,x* +a,x* +a,x+a,

353 50ms(:
h(x) = x* —2x* +0.5x—6.5

3erebemdols  3mgnoi30gb@ol obregdlo offygds 1 —o» 9dsmgbo bsolbbols djmby (33ems@alsmgols.

3eremobmdl bdoMse  3oggbgdm  Lsobgobdm o Lsdysbogdm  sdm3s69830 0dol gedm, Gmd dsmo
boaﬂogabom 'Babodgmabagoo 39035 solsbml  gobogmeo 15015(?)33360. dgsbég  me3do 339
2939390000 9939603968 mem dmbs(3g0ms  dmEgemadgdols dsgsemoml 3eemobmdols Lsdmsemgdoo.

9.11 3em0bmdol 3608369mmdols g4sdmogms (Jgagsligds)

MATLAB-30 oébgbmbb (3msols  der(3gdyem 360’3363@(‘760000003015 3obmdols  gsdmmgemols
65890039 abs. dsgsamomse 330608 gsdmzmgsmmo dgdegan dmeobmdol d60dgbgmmmds:

f(x)=3x*-x*-5.2
o) 33068 a3dmzmzemmm 33 gg7bdiz00l  3603369mmds T gsemstolsmgol, Gmdgmoz gboggds X
33moRb, @s3fado

f=3*x"-05*x"3+x-5.2

o X 39d@meos b dsBdogs, dsBob  gsdmgoyggbgdm  dsbogyn® 86 Fglsdsdobo  gmgdgb@gdols
™3968305L:

f=3*x" -05*x"3+x.-5.2
doegdmmo f 3sB0(30L Beds oligmogg 0dbgds, Gemam®i X s éosols.

30006030l 3608369c0mds  Fgodemgds  3odmzmzgsmmn  s3Ggm3y Bbigoom  polyval, Gmdgelsg
™0 sO39d96B0 sd3b. 30Mzg9mo M mdgbBo Bgoizegl dmeobmdol 3maxo(3096B3)90L, dgmEg o X
0d  d600369emmdgdl, OMIgmmsmgolsi  gomgmom  3me0bmdols  36033690mmdgdl.  sdG0g, f
3eremobmdols 3609369cmmdsms  asdmbsmgmgmse sagdotegds 66dsbgdgdo:

[31 _0-5’ O’ _5-2];
polyval(a,x);

a
T
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96 @G0 66dsbgds Fgodmgds 3s359M®0sbmo:

f = polyval([3, -0.5, 0, -5.2], X);

f B0 olgmogg 0d69ds, Gmamey X, Gmdgmoz dgodmgds  ogml bismséos, 39ddmeog ©s
3503353

3373350 330608 3333035 3ME0bedols 3603369emmdgdo 0bBg@zsedo [0,5]:
g(x) =—x*>+3x>-25x*-25

d90ga0 3dsbgdgdo dmg339dL Smemobmdols 201 d6md3bgmmdsls 83 0b)gegam by,

X = 0:5/200:5;
a=1[-1, 0, 3, -2.5, 0, -2.5];
g = polyval(a,x);

OoEs X 3906008 o6 bzsms®o, gmbdios polyval 3meobmdol 360836gmmdsl asdmomgmols
d9bsdsdols gemgdgbgdl Tl m3gMsioom,  Omgmei  fobs  dsgemomdos  sefgdomo.
3ere00bmdmls  d60d369emmdgdo  Fgodmgds  gsdmzgomgzsmmm  dsEoznmo  m3g®sio0m.  sdobsmgols
361333l 3600 polyvalm:

f = polyvalm(a,X) — éogs a N+1 Logédol 39J@mc0s, Gedgmoi  3g0303b  3ememobedols
3095803096390,  3sdmomgmols  3mmobmdol  d60dzbgmmmdgdls  dsBGoamo 3G 7dgbdom X. X
mbes  ogmls N X N %mdol 33068 mmo B0z, 3meobmdol  msgobygemo 9360

233dM83mmEgds  gAmgnem3gsh ds@eo3eby I

f= a(L)*X N + a@2)*XN(N-1) + ...+ a(N)*X*]

10.2  s600dgBogmmo m3g6Hsogd0

3373350 ™60 3eabmdol 3mgiaiegbdgdo RsfgMamoas LB Godmbo a s b 39J&™c0l bsboo.
39330dm0s 358G 3OMM0  3amabmdn@o  asdmmgmgdo. dsgemomse Mmd  Fg33006m0  Seemobmdgdo,
Mbes  Fg3300dmm  dsmo  Fgbsdsdobo  3maxo3096Bgd0.  s3G0gse  Seaemobmdgdol  xsdols
395800963900 Bemmos  Igbsgegd  Seemabmdoms  Fglsdsdolo  (9Hmbsoto  Badolbols  dJmby
G330l 309530(30968)900)  3m9R03096B)980L  Ksdols. F936036s3m, G0 39]BmEgd0, GMIgmo(
3903935 3mobmdol  3mg53903006g0L  gOmbsodo  Log@dol  wbes  ogmbl.  Lsogrnlig®ssome
3373350 330608 Fg336008m0 2 3memabmdo;

g(x)=x*-3x*—x+24
h(x) = 4x® — 2x* +5x —16

s(x) = g(x) +h(x)
dso 3gbsgegdse MATLAB —3o 30496900 31dsbgdgdls:

g = [11 01 _31 _11 2'4];
h = [0, 4, -2, 5, -16];
s =g+ h;
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1.0000 4.0000 -5.0000 4_.0000 -13.6000

sbg39 6080}0003;3360 3eremoberdms Bb3om6¢0. 60 3egobemdols 151530006015 39J& ™60l 3@3836@)360
doomgds dsmo  394BoMgdols Bglsdsdobo  gemgdgbdadols gsdmgmagbom. 8o 03039 d0MMbs  brs
oyl @s3mmo — 33{]@)0’)(4)360 96Onbsoco 1503(4)8015 “bs ogml.

3eremobmdols  bysemstrgen  Lowoegbyg  gobeddsgmadse  dobo  3mgg03096@)gd0L  39ddme0  mbrs
39339033 bgsmasdby.  sdMogse, o) azsdzl  3emeobedo f(x)= X2 —6x+1 ,  0dolsmgols,
Amd dogoemn g(x) =31 (x) 3remobmdols 3m930(3096)g00, gLsGgdmmdn 3¢1dsbgdgdoom:

f=1[3,-6,1];
g = 3*f,

b3estols 860'8353me¢ '8306@3&5 Q&Qa&)mog 0gm 8 IMYMBOmA(.

3ere00bmdgdols 9O:dsbgm by 3esdMsgmgds Rem Gormmo 3emgLos, goMg dsmo dg3096s ©s
asdm3emagds. MATLAB 3meobmdos gowsdtsgemgdsl sbmdogmgdl i3mbdizoom CONV, Gmdgmo(s
A memadl 633Msg3mo  3eobmdols  3mas0(3096¢)900l  gsdmmgmol gggmyg Lagodm bsggby@l ©s
23993l dolbo Fgbsdadolo  3ogxo3096d)g60l  39ddodl. oy a s b A © B 3mmobmdgdols
39J&™O-bBHoJmbgdos, C 6530830 3memobmdol  jmgnaiegbdgdo  Bgdegan  dGJsbgdom
333m0mzgemgds:

¢ = conv(a,b);

36 sé0l s30mgdgemo, GmI A ©s b 39JB™M960 gOmbsoto Log@dols ogmb.

3ere00bmdgdols gogerags MATLAB —%o bodogmegds 66dsbgdom deconv, G™dgemog 339993l
™6 39JBmOL: 3oMggmo  39ddmeo  Fgoegl  gebsgmezo  3memobmdols  3magxo(309690L,  bBeagne
dgmeg 65dmo  3eremobmdols  jmgaa30g6idgdL. deconv s CONV 31630980 bBodse  asdmoggbgds
bogbsmols 3393539800 ©s sf3Momgdom asbgzoboemsgm s Lszombolsedo dodmgbog msgdo.
conv s deconv 396 Jiosms Lsogrqlg@some 3sbzobommo Mo 3meobmdol bsd@sgemmo:

g(x) = (3x® =5x* +6x—2)(x*> +3x* —x* +2.5)

d9330dm0s gl 63330 a3dmgmzsmrmm dGdsbgdgdom:

a = [3, -5, 6, -2];
b=1[1, 3, 0, -1, 0, 2.5];
g = conv(a,b);

g 39Jdmc0 doomgdl 360336g9emmdsls — [3, 4, -9, 13, -1, 1.5, -10.5, 15, -5], & gglsedsdgds
3ergnobedls:
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g(x) =3x® +4x" —9x°® +13x> — x* +1.5x> —=10.5x* +15x -5

36300 deconv 3erem0obmdos gogmezsls sbermemgdl. dgzelrmmmo gsgmage:

3x® +4x" —9x® +13x° — x* +1.5x® —=10.5x* +15x -5

h(x) =
) x°+3x*—x?+25

aoaaaﬁ)magm 65)6&686361;:
n [3, 4, -9, 13, -1, 1.5, -10.5, 15, -5];

d [1, 3, O, -1, O, 2.5];

[g,.r] = deconv(n,d);

O@am®3 Inbsmemebymo ogm dogomgdm gsbsgmio 3meobmdols 3mgzo0g6dgdL [3, -5, 6, -2],
364 3meobmdls 3x* —5x% +6x -2 s 633mol  39JBmOL, Gmdgmols  gemgdgbBgdoz  bryemols
Bomos.

sbms asbgoboemme sbgmo gsbsgmao:

x® +5x% +11x +13
X2 +2X+4

h(x) =

MATLAB Bo'a'aogmabom 233mz3003emo0:

n=1[15 11 13];
d [1 2 4];
[g,r] = deconv(n,d);

dogomgdo: q=[1 3]da r=[0 0 1 1]
G5 60dbsgl:

X3 +5x% +11x +13 X+1
=X+3+

X +2x+4 X* +2X+4
bdodse  Logodms, Gm3  3eaemobmdgdols asbsgmego  Fs0dmgegobmo  3mmoabmdn®o  Fomswegdol
xs00L  bsboon. MATLAB asshbos  ogmbjios  residue, émdgmo  Ladnmemqgdsl  335dm93L

Jomseo s3dsemmmn G(30mbse@0 %’0@0;336015 K ods0.

h(x) =

Bsgstrgodm
der(3999em0s  3eeobmdgdo:

f(x)=x°>-3x* —x+3
f,(x) = x®-6x" +12x -8
f,(x) = x* —8x* +20x -16
f,(x) = x®-5x* +7x -3
fo(x)=x-2
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83390 9939y ymbJosms o abBgdzemdo  [0,4]. gsdmogsmmgm  3memabmdols
309500968980  demandtrmmo  m3gtsiogdom(element by element) s MATLAB  og964309000
(conv, deconv, polyval) asdmggbgdoo. Bgestrgm gHMsbgol me0gg Bgdmbzgzsdo domadmemo

d90093900L dobgregom sggdmmo IAmogdo.

f1(x)

f2(x)-2 fa(x)

3fs(x)+ f2(x)-2 f3(x)
f1(X)* f3(x)
f4(x)/(x-1)

f1(X)* f2(x)* f5(X)
f2(x)/(x-1)

Noor~wh e

/ 36mdgds: 398 gmOmmmaonco dsemembo

B gmOmmmaon@o  dsgrmbols  Ladgemgdon  beodogmeads  B)9d3g@sdméol s {bgzols
30B335 5B Inbgzgeml Tbgeslbgs Lodsmmagby. dogmbo dgglgdnmos dgemondom, Gmdeols

bodgze039(3 dsemmb3o  bsgemgdos dsmmmbols 0Magmog gsé9dml Lodzzoggby 8@ dmbogg@mls
363 gq6986do. sdoBmd ogo dogge0bsgl Lmem  dsmems s dsmems, 36y 8@ dosm(ggl
FebslGmOmdols  Faddomb, obgn  Lodsmemgl, bsesz  sBdmbaggdmlb  LodgzMogy dsembdo
3geomdol Lodzzc039L asndmmegds. ol 3sb6dsgmmdsdo dby s0dmdl G 3gmomdl, dobo

bodg36039 93998 ©8 dsemmbo  Beem  dsmeem 3969880  gsssaomEgds. msdoo  3gmomdo
(3930908, 03733988 s dolbo Lodyzoggs 0bOEYEs, Mol asdm dsembo sBIMggdml J3ges

033636'80 3'833&5. 33633970 3gMomeols 6&6&3(}3(*)6&30 66(‘030\)3&) 3(*)6&(338360 bo(j\nmﬁoh
bodsmeol  Iglbebgd.  Lodsmemols  (33emoegdols  dmegemodgds  Iglbsdmgdgemas  Seagmobmdols
bo'a'gog:);]&om.

3373350, 48  Lssmols 6063&3@0@60’30 &)Q(*)GOB Lodspemg  Amols  dobgogom  dgdegan
gm®dfmol dobgogzom o(33mads:

h(t) = -0.12t* +12t> —380t* + 4100t + 220

bosy @O bsmgddos  dmzgdnmo.  sBdmlggdmBo  dsemmbol  gsessgomgdols  LoBdséy
Boemo 0d636o dobo %’oéamabggmob:

v(t) = —0.48t° +36t> — 760t” + 4100
LohJs®rg asbmdogmos /(3. ssago g gmemmemzon@o  dsemmbol  Lodsememol s LohJseols
Ionegdo (g0, §odo s IgBG0/fsd8o —  gemgmmgdBo), asblebmatgm  dsgebols
bodsmeols mooeglo 3603369mmds ©s Lsmsbsm ©Omol 360d3bgmmds.

1. 3dm(360L  slsds

der(3999m0  3mmobmdgdol LeBysemgdom 83390 3dmlgg@mo  dsgrmbols Lodsmemobs s
boB sl atrsg030. 03mzggo Lodsemols meoeglo s Aol Lsomsbswm 860'8363Qm6o.

2. INPUT/OUTPUT spfgts
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(96350961 INPUT/OUTPUT 0530335, Omam®(3 Bsbl 3Omg@sdsls o6 dogfmegds
36365060 Ibs(393980,  bmeem  Fgegase  odmgzs o6 dOmel,  Lodspmol  goowegls

350'3363me01& Qs '8315&608015 AO®L.
‘ji"-\i attitude

‘j '\._ﬁ‘\ velocity

6ob. 10.1 1/0 rosgcrsds

3. bobgmesbgmem s3mbLbs

96 Loggby@o sms® a3dodegds, Mgt Mbes ©s3(9Mmm 3Oma®msds, G™Agmoa 35390
IOrel ©s 03mgol mooegls 36033690mmdsls dcbs(3939dl meol, G™Amol dobgwgoms
30 sogm.

4. MATLAB s3mbl6s

% This program generates altitude and velocity
% plots using polinomial models for the
% altitude and velocity of a weather ballon

%

t = 0:0.1:48;

alt_coef = [-0.12, 12, -380, 4100, 220];

vel _coef = [-0.48, 36, -760, 4100];

alt = polyval(alt_coef,t);

vel polyval (vel coef,t)/3600;

%

subplot(211),plot(t,alt), ...

title("Balloon Altitude™), ...

xlabel("t, hours®), ylabel("meters®),grid,...

subplot(212),plot(t,vel), ...

title("Balloon Velocity™), ...

xlabel("t, hours®), ylabel("meters/sec”),grid,pause

%

[max_alt,k] = max(alt);

max_time = t(k);

fprintf("Maximum altitude: %8.2F Time: %6.2F \n",__.
max_alt, max_time)

5. 390m{7dgds
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Jg99500 80;336"3@0 3&)&303360 6&633636&5 . 8030;‘33600 3369039  bodsememols  moowgl
36033690mbsls:

Maximum altitude: 17778.57 Time: 42.40

« 10 Balloon Altitude

meters

0 5 10 15 20 25 30 35 40 45 50

t, hours
Balloon Velocity

meters/sec

0 g 10 15 20 25 30 35 40 45 a0
t, hours

6ob. 10.2 393 9mOmEmmgon®o dsemmbols Lodsmeng s Lohdseg

10.3  3em0abedol gggliggdo

33m(3960L  33cbLboLsl boter azFodgds godmgmo Y = f(X)  ge6Bmmagdol gglggdo, o6 X
G3es@als ol 360336gemmdgdo, G@dgmmmsmgolsi Y = 0.

oy f(x) 316300 N Gogol 3emobmdos, sl 843l balgee N gglgo. dso Bmeols Bgodeogds
ogmls  gPmbsodo  360336gemmdols  dJmby 86 3d3mgdlm@o  gggliggdo. o) ©s393d390m, eI
3er0bmdols  3mgx0i3096B) 900 (A1, Az, . . .) bsdzomo Gobzgdos s sl 83l 3md3egJlmeo
39b39%0, olbobo OM0gANIgnmmgdnmo 3md3mgdln®o Goigbzggdo 0dogds.

o) 300bmdl sgdmom 3sdMsgmgdse sbgmo Lsboo:
f(X)=x*+x-6=(x-2)(x-3)

dobo ggLggdol Ladmzbgmasw f(X) qegmBmmmn 0, agzgdbgds:
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(x=2)(x-3)=0

bsoesbsz dogomgdo x3gliggdols 3603369emmdgdl X = 2 s X = -3. 39bggd0 Bggbedsdgds X —ols

0d 36033690mb98L, OMdgmmsmngolsi 3mmobmdols dqlsdsdolo dOmmo aseszzgol X @a®ddls G

Rsbls bob. 10.3—‘753.

Cluadratic polynomial

f1(x)

P N T F R RN SO AR N
5 4 3 2 .

6ob. 10.3 3350638 Mo 3ergmoberdo 2 bsdegamo ggligom

6'36'35)0 3rm0obemdols Bmgaro Labgs:
f(x)=a,x’ +a,x* +a,x+a,

300060 3mmobmdo Igbsdg badolbolss, sdogmd dsb 3 gglgo gbos 3Jmbrgl. o ©s3733900,
Am3d dobo 3mgx030968)gd0 bsdwgzomo Gorsbzgdos, Fgodmgds a3Jmbegl dgdgan Bgdmbzgzgdo:

3 bbgeeslbgs bsdwgomo qligo
3 gembsodo 3603369mmdols dJmby bsdegamo i3gbgo,
2 96mbsoco 860'8363me601) dJmbg oo 1 6061&530336'3@0 bsdegamo ggligo

1 bsdgomo gqligo ©s 2 ON0gON I nmmgdgmo  3md3mgdlneo ggligo
bsognlgdsiome asbgoboemmn dgdmgao deemombmdgdo:

f(X)=(x=3)(x+1)(x-1) =x>-3x*—x+3
f(x)=(x-2)°=x*-6x"+12x-8
f(X)=(x+4)(x-2)> =x>-12x* +16
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f(X) = (x+2)(x—(2+ )(x—(2- j)) = x* —2x* -=3x+10

Gob. 104 (odmaggbl 33 3eobmdms  dglisdsdols  dOmegdl.  bgdmgommo  gggliggdo X ol
3603369mmdgd0s, Lspsiy gl Imegdo X @g@dl aswsizgol.

Distinct Real roots Triple Real roots
50 . 100 .
1| S e 0 :
JE | S T —— _ 100
= : =
= 100}-- R R REARUEEEEEEEEEEEE - -200
-150 ¢ --------------- =300+,
200 i -400
- 0 5 -5
X
Single root, Double Roots
100 T 100
50
50
= = 0
& =z
50
0
-100
-50 : -150
5 0 g -h 0 5
X X
6ob. 10.4 3907960 3mmobmdgdo

i3 Igmey s dgbsdy  Gogol  3memobmdgbols s dsdBog  dsdGegmgdse  ©s  dsmo
39b3980L  3mgbs Bgrs®gdom sEgomos, dsmsgmo Mogols Seaemobmdms ggliggdols 3mgbs, Lszdeme
Gorgmo s OmdsBgzeo  bsddge.  s@bgdmdls  dMsgemo  Gozbgzomo  dgomeo,  Gedgmos
L3geemagdon gsdmomgegds 3meobmdol ggliggdo.

MATLAB 3eremobmdols ‘331’386015 33dmlsmgmgmse  asshbos 36308 roots. dobo 3613396800

39J&™0, Gedmals  gemgdgbdadai  3meobmdol  3m3953030968)9008.  0go  339dma3l  39GHmOL,
Aol gmgdgbBgdo 3mmobmdol  gggliggdl FoMdmseagbl. @gliggdol GsmEgbmds 3memobmdols

bodolbol Baemos. 33 ogb300l Lsogrqlg@zome gebgzobommo dgdrgan dmeobmdo:
f(x)=x®-2x*-3x+10

233m3035mm  3memobmdols g3glizgdo MATLAB bsdnemgdoo:

[1, -2, -3, 10];

P
r roots(p)
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9k mé0 666063&5 9600 60’06&63601} Lobooms(y 836306Q°° (363 g50030b6m0m:

r = root(J1, -2, -3, 10]))

MMATLAB dma3(3996  8gbzgdol 360d3690mmdgdLs: 2+i, 2-i, ©s —2. 99353 dme  doegdmemo
369369em3930L3301 3memobmdo @gdmmdl oy 3G bymol Beaen d60dzbgemmdsl:

polyval(][1,-2,-3,10],r)

oy dmgdnmo  338J3L  3eeobmdols  gggliggdo s a30bs  godmgmo  dobo  3mg0(3096@)d0ls
36083690mmd9d0, Mbos 3sdmzoggbmo  gmbos POly. dobo se3mdg6H0s  39dBH™G0, GMIgeo(

3oobmdols  39liggol  dgozegl s Fgegase  333dmgal  39JBmeL, Omdmols  gemgdgbidgdacs
3eremobmdols  3mg30(3096@)gd0s.  dsgsmomsE,  3sdmzmgsmmo  3mobmdol  3mgi3a30968)900,
O@dmols ggliggéos —1, 1, 3.

a = poly([-1, 1, 3D;
39J&meO-lgoombo a = [1,-3,-1, 3].
Lsgecrodm

236Lsbm3zMgm 39dga0 3embmdols gggliggdo. ssggm Bgbsdsdolo dOmo basmsbswe 0b@g®asedo
©s 398dmfdgo  asesgazgol o M8 ddmeo X @gddl 0d (g@omBo, Gmdmol d60dzbgemmds

39L30l Beagmos.

g, (x) = x* —5x* +2x+8
g,(X) = x* +4x+4

0, (X) = X" —2x+2

0,(xX) = x> =3x* —11x® + 27x* +10x — 24
0. (x) = x> —4x* —9x® +32x* + 28x - 48
0, (X) = x° +3x* —4x® - 26x* —40x - 24
g,(x) = x* —9x* +35x° —65x* + 64x — 26
Us (X) = X° —=3x* +4x° —4x + 4

SRR O T ol

83 ms3do  gsbgoboemgm  3mEobmdn®o  sbagobo.  sz0{ggm  3memobmdol  36033bgermbsms
333mm3gmom,  d9dgy  3939(390000  3mobmdgdols g 60ds-g38dmgmgdsl s asdMogmgds  —
399mz3l. 23633560890 3mmobmdol 3gliggdo s 3sgg3sbom dsmo 3mgbols gbgdls, gsbgoboemgem 3
b 30mbgdmsb s 39380M90mmo MATLAB 396J309%0.

10.4  36ds6gdgd0 s gb30gd0

conv 23008530338l MG Seremabedls

deconv 339mxzl 900 3meobmdl Igmégby
polyval 233momgmols 3meobmdols 36033b9emmdsls
roots 236 b03M93ls 3memobmdols g3qligqols

poly 3390030l 3memobmdols 3mga03096i90ls
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10 3eemobmdn®o sbsemobo

3608 gdgdo

1-5 333868 0335390693 mmos 33 m33d0  gebboem e 3dm(396900056, 6-15 - Beagoese

3rmobmdne bl dggbgds

¢ 9gmOmEmz 0@ bammﬁo. 9L sdm336980 38300M©gds 33 mszdo  asbbogmm  sdac3sbsls

3B 9OmE™aon@o dsgambols gbsbgd.

L.

dmmbols  dmdMsmdols dmEgmby  EsgPbmdom  gsblsbmgMgm ©OH™, GmES  dsemmbo
qesdoffeby 393995 (Bomomgds: gsboboemg 3eeobmdols 53glizgdals 3603369mmdgdn)
bodsmeols dmbszgdms dobrgom, G™mdgmo 3mmobmdol Lsdnsmgdoon  gsdmongmgds,
336Lsbm3zMgm 39M0mEa, Gm(3e dsgmmbo gs@ssEanmEgds J39dmesb bgdmo.
bodsmemols dmbs(zgdms  dobgom, Gmdgmai dmeobmdols bsdmsemgboo  gsdmomgmads,
33bLabmzayg 3gomeo, Gmis dsemmbo J3gdmo 9339ds.

dognmbol Lohdstrg bymols Beamos, Gmigs ol Fy39Bl  s@dsbgmasl, sb6  ©sd3gdsb.
359033 EOMols 3609369emmds, Gm3s dogrmbols Lo sty bmemol Beagmoas

99-4 83396580 a363bsbm3zdge FodBomo, Lswsz Lohds®y bmmol Bemoe ogm, o
d99Ls05390s 03 dmdgbBl, Gegs  dsemebo  [yzgdl  s@dsligmsl b sdggdsl. gl
T960B0mgdo  Bggledsdgds 0d  0bBa®zemol  Lsbmag@gdl, Gmdmol  as6ds3ememdsdagy
dsemmbo  Bgdmm  doggnbsgl, o6 9d39ds  grsdoffolizgh. gswstrgm dg-3 s dg-4
300bgols  3sbmbgdo O™ bsbmo  3s3Boco  dsgrmbols  LoBJsgls s Lodsmemols
301300 968-009358)9081s dme0ls.

3omobmdnmo  sbamobo. MATLAB  Lsdnemgdon  0dmggom  8gdeggo  36mdemgdqdols

5dmblibs

6. ©337935m  dmigdnmos  39dBmO-bgGodmbo,  Gmdgmoi  Fgoiegl  3eeobemdols
3095803096390, 393mmzgemy s ©sdgFEy ©sEgd0mo Bglizgdol MemEgbmds

7. ©s37935m  dmgdgmos b Gogmbo-39ddmeo,  Gmdgmoi  Fgoiegl  Semmobmdols
309580096390, 3sdmmzgsemg oligmo  3meabmdols 3mg0(309683)900, G@Agelsy 94690s
03039 bsdegomo gqbggdo, dsa®sd o 9469068 3md3mgdlmeo gqlggdo.

8. ©s37dgsm  dezgdnmos  bEdodmbo-ggddmeo,  Gmdgmoi Bgoegl  dmemobmdols
3M998030963)90L.  asdmmgzsemg  olgmo  méo A(X) s B(X) 3eremobendols
3095800963900, O™MIgmms  ssdtsgmgdomsz  dglsdmgdgmos  Lsfgobo  3memobmdols
domgds, msbsy  olyg, o3 A(X) 6sdgomo  ggqligado  3Jmbegl,  bmeme B(x)
3™33emgJbmeo

9. 03mggo K-l olgmo  3600369cmmdgdo,  O@Igmmsmzalisg X-3  séols 960-9600
0365333530 3eremoberdolss kx® —6x? + 2kx —12.

10. 03mgqo K-l olgmo  360d3bgemmdgda,  AMIgmmsmzgalsy X+2 sl 960-9600
036533353em0  Seremaberdolss 3x3 +2kx? —4x-8.

11. 39ddgb600 3emobmdo, Gm@dmol  3mgxgoegb@gdo dmgmo Goibggdos olg, Gmd dobo

39bggdo ogmb:
@) 1,2,-3
(b) 203 -2,-1
©  ~/5,-+/5,4/3,0
) W 23, 2i-2i
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12.

13.

14.

15.

394996000 3memobmdo, G@dmols  gqlizo  ofbgds 3+ gdmgao  3emobmdols  ggliggdo
2x° —7x+5

dm390gmos  f(X)  3eemobemdol  jeogioogbBgdo.  3sblabmaty  —F(X)  3erm0obmdols
37980300G%0-

dm390gmos  F(X)  3erm0bmdols  gmgno306dgdo.  asblsbmztgo  3mgg030968 30
60dbols  (33emomgdols  GscmEgbomds (R3gmemgd®og,  dMsgemGazdol G390
Esmsagdmmo Mbes agml (330l bstolbol jmadols dodstrormmadon dsé(3bbowsb
8¢6x3603) dsgamomse  sbgmo  3mg03096@)960L  MemEgbmds  3memobmdolsmgols
2x% —=2x% +2x =3 Lsdol Bowos(+,-,F,-), bome  3emobmdobsmzgols X2+ Xx=2
6ol (+,1,-).

©93508 0l 60bol  (33momadols  Fgbo 339936, O™ o 3meobmdols
3095803096900 bsdgoemo  Moibggdos, dobo sEgdomo ggliggdol GemEgbmds oG
3mgdaBgds 6036l (33emomgdols GemEgbmdsl s GeBgmgomo gqliggdol GemEgbmds
3 oemgdsgds  60dbol  (33momgdols  MemEgbmdsl  3memobmdalsmgols f(-x).
der3999em0s  3mmobmdol  3max0(3096B)900. 03mzgm  dobo  EsEgdomo s TIBYMBOmO
39lg900l MsmEgbmds. (0b. sdmzsbs 13, 14.)



